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100. =208 =8 2 &3
110. CHE0IE2 SSM A8 S8 E

22 | " HEY HRY 22 | m@zs HEY BRY

=) | () 24(2+) | S (o) GSM | (h) | ARA@F) | S (n)
= 65 15.7 16,324 N 174 5.9 863
O 34 10.5 17,880 S 64 5.6 1,011
0 = 8 13.8 20,331 i 27 9.2 716
ol & 22 12.2 17,854 o & 19 14.2 1,180
z = 14 10.1 15,556 i 20 7.1 1,163
S 6 9.3 15,536 o & 22 6.7 820
g & 13 8.5 23,916 g & 13 8.5 880
3 106 10.7 18,055 3 144 7.8 948
2 2 9 16.8 10,508 2 @ 15 10.1 1,963
5 = 10 15.2 14,744 5 = 15 10.1 1,126
5 o 14 14.4 13,211 5 o 14 14.4 1,070
d = 15 12.4 13,673 H = 12 15.5 1,002
d o 15 12.8 13,368 H g 6 32.0 1,330
Y = 21 1247 12,146 3 = 26 10.3 1,317
Y o 25 12.9 20,420 Y d 59 5.5 968
s 6 9.3 9,830 Rl = 6 9.3 711
g i 403 12.3 16,814 g i 636 7.8 979
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100. CHEA0HE =& & 2Ho=
120. H&O0E2F SSM & & ==0|
e oy & HEOHE | g HE0IE HE P SLE(%)
U= | JSHA IlEEE s HE | BHE/

2000 116 | 1,300,686 11,213 | 2H9= 2+ 15.2 | 20.7 4.8
2002 200 | 2,726,854 13,634 | DoH7E=2H 10.8 | 14.3 2,
2003 232 | 3,416,263 14,725 | D162 9.9 | 125 2.4
2005 289 | 4,646,960 16,079 | 2oH4E= 2 9.0 | 10.4 1.3
2006 329 | 5,502,714 16,726 | o132 73| 7.6 0.3
2008 393 | 6,636,049 16,886 | oH1=2 4] B 2 -0.0
2009.92 399 | 6,736,013 16,882 o 7 okl A8 1217 2.3

FIESEHAE SRCEVINBEE HEHA J=2L,

AZ e AENE S, 20097 M A2, 2009.9.

=y R ghe %%SQE s 3|§L_ESSM Cﬁi Sii%) o4
2000 120 153,663 1,081 | DHOE2 oM T 3.1
20024 171 233,109 1,363 | H7E2 22.1 | 16.1 -4.9
2004 234 308,175 1,317 | 52 24.4 | 16.6 -6.3
2006 318 400,819 1,260 | DpH3E2 30.8 | 18.6 -9.3
2008 526 564,321 1,073 | DpH1E2 38.5 | 18.4 ~14.5
2009.72 636 622,717 979 o7 26.4 | 17.5 -6.9
A= St AENES, 200973 S A2, 2009.9.74 2] 6361 & S A
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3= X MO8 (1) X MK 8 (2)

EMAIE | 20094 88 8(E) 2009 88 122 - 98 42

EAXS | AE.28 07,008 2E, 0E,HD NE 2o 03,8 2% 0E 2|

EACHY | 09& 88 BIIH Br20-59K1 U 200§ ALY BH20-5941 &0l

EANLY | HSREIA S=ERSEIY

BE4 2 5169 £ 1,000
HEFE | MY, 4, dzE a3244 Y sSmMET/0IEE 47 22t 109}
ZADIZ | (F)ECS2AMR JE2HLID2I0 BRR S 3
|2 | KBS XA R
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= [ ssm [ ] Am | aE | oaE ] T = = z

REAZ0I8 Ceydl e 08 N T N ey [ et N 3 = |<ioolo
RELIEESs ST | o o 412 g esiol Aot mh s | 1000
SsM EHF 27.6 | "48.4 | 222 |t | - - 18] = - 4 [ 1000
HeHAIZ =F 26.94| aza'| Vol <] - 28| 18y - - - | 1000
REEESs PRC e, e | el 2 | e N (oo T [T
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221. SSME& S HuUEH
AHIX F0HAI O1Eot=s SSIZEZMFEUHY)

g7= | o2 | cow | w0 |sni s | | w0 | Fel] T @
REAR0/8 40.5 s B (RN I = BT 3ol & F 99,9
A HI0l2+ = 35.2 o ¥ e S 3 2.3 8.4 =250 5.0 6.0 99.9
SSM 8% B5T8Y 0 a4 12y N OEe| Y 3 . AL s = . 100.0
THeHAIZ =3 BN M SA0IES a3 Sl = 1.6 205 = = = 100.0
Aol =3 27.5 32 07 [ Baic 0™ o 5 1.2 2] e 20 B O 9.0 100.0

M/S Zh4 RRE 5 Sl a2 | z A R 0.0 5.0 3.0 ¥
M/S ZaB| 8 0.78 1.92)/ |.0.58 o = 0.52 [Hi0.66% | 1.0/ [ 25004 1.50 >

=1 9|2 | &-KBS, AP 2-(F)EECIM X
2HIAH 720 Al Ol Bote #SE = XA
oS H & ol | A8 | g | Ze | el | B | #e | s | 2F |,
O0tE SSM IH +H | A2 [ NE | B = =8 =

SSM EE & (1) 39.0 1.0 8.0 [ 19.0 RO B Aol SR B i 40| 80| 100.0
BIREZZ(2) 32.0 16.0 7044 17.0 I s L S 5.0 | 6.0 99.0

SSM 28 % 25.0 26.0 701 1300 PRGN i en o e POD IPR e e R 0 ) e 1.03

M/S 22 (1) -14.0 25.0 S0 | Bent.0g1" SIEOANESS O RE- s aNlI] 6.0 1.0
M/S ZaHIg(1) 0.64 | 26.00 088K i 0680 =8 0: 6l 0:6 2N 0:50F (0. 67l &2 SO [~ 118

M/S 24 (2) 7.0 10.0 0.0 [ -4.00 0.08] . =30 | 400 a2 070 5.0 N0
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SMDms = f( P, Y, C, R, Rn, LM, LMs, SSM, SSMs )

SMDMs : EAREARHRS(ZARSHEM/F A A 0H0H S )

P oA

Y ooiojeIAS

C : EASXA(TAIQITR/FHOIT)

R ERHS(EROR/(ADLBHN),)-DEC 29} 2&

Y I B == S
EMistar il S A

SSM :J|¥d SSM ==
SSMs : /& SSM B =

o BHUYE: (HEOIES IS SSM 2H0| ZASS AFESS0 01X
o 247]2+ 19993 ~ 20031 (171), 20031 ~ 2007 (271)

o 24Tk 1604 AlE
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N =M sE2 A
P (=) =F = -
231, 3¢%%_| NZESE A82H 2320

1X 24|24 HE=3 A4 Z=3l =9 2% 2440|2¢ HEZ=3 A =3 =9
(1999~2003) H = g s (2003~2007) H = & s
S A B g2= HI E e &9 B g Hl EF
il B [N =] B Xt

(&af==) 2.701 .269 .000 Ab4) 1.805 .187 .000
= | ARHEG 0.122 | .029 .364 .000 = | ARHS -0.070 .031 -.268 .027
—i— AEHEG -0.173 | .054 | -.203 .002 —i— AEHFG -0.142 .032 -.228 .000
% S AlIEt -2.111 .198 | -.639 .000 % SASEE -1.321 .130 -.792 .000
Ué' T2 -0.998 .621 | -.099 114 g T2 0.805 274 .170 .004
y | HHEg=H -0.124 = .032 | -.390 .000 H| | SSM=& -0.220 .045 | -1.395 .000
S | gy -0.075 | .024 | -.309 003 || & | ssmeit 0.301 .050 1.879 .000

SSM=H 0.058 | .013 .293 .000 WiR=R RS —-0.040 .023 -.209 .093

F-value: 84.801 ®2/&=: 0.000, F-value: 58.075 S|2&=:0.000,
R: 0.962, R2: 0.925, =& & R2: 0.914 R: 0.922, R2: 0.850, =& & R2: 0.835

1 24&8)|2H0l= (HE0IED =4S AMEESR=0 0Xl= @80 SSMECE &HH
C & 2 A o S=A=EN 0= S 20sSSM =&er JI Skl S0 2iEE E2E JRIIN | of 1
CH& Ot M=

Eol AR HH}EHI & E A=Y B0 T
= 2R O, CHE 0] S it SEAEH O O{FE RA
otAl &0t 1 &0l O|0lot) BHHG A2 SSM
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> A N =X ok M
i — - i . — -
232. s SARS lH=2%0 O0Ixl= g4
Semi- HHHS EARS
= 7|2t Soypa i l UHEH ! £
=5l elasticity RS il = M/SH 3t
log(CHE DIE %) -0.124 -0.159 1% S 0.159% 2 A
(1999~2003) log(CHEDIEXHA) -0.075 -0.096 1% S}t 0.096% 2 A
log(SSM £=) 0.058 0.074 1% S 0.074% S I}
log(SSM %) -0.220 -0.282 1% St 0.282% 2 A
= 472 % = %S
log(CHEOIEXHA) -0.040 -0.051 1% =1 0.051% & A&
T 20054 20094 AP+ S571&(2005~2009)
e A A 6 14 24.2
2l Eilka 59,897 184,957 334
A A S 6 14 26.7
SSM
FHHEAH 7,711 14,975 20.3
) IR elasticity I2a=1s 5} M/SH 8} ] & 3} - -
log(SSM <7) -0.220 -0.286 26.7% =7} 7.64%7% 2~ 4,626 74
o
log(SSM ™ 21) 0.301 0391 203%Z7} | 7.94%%7 | 48082 =sp | S/2°%
log(th FrtERAF -0.040 -0.052 33.4% =7} 1.74% 7 & 1,054 A i
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